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Lo B prsl A solenoid of vadius R, length Leoand a total of N tarms carvies o
current Lo Assime that the length is much longer i the vadius (hat 15,
assume the solenoid 1s finitely long). What is the expression lor the
magntide ol the magnitie ield mside the solenoid:?
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2o T the hgnre below, the curvent divection in coil #1 is given by the hlack
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it 13 pis What s the direction of the B-field produced by coil #1 inside
ol cotl #2 Draw vour answer on the diagran aned expliain youm

FCASONT,
As  sunm by He ohcevver
Sl

r_,l‘:'l.t_ G - tlpekwnte Paayt Wl
S OB le :{;r.-,-,, h&{ in mlj‘h.l'

b LEpis] Given that the current i coil £1 is decreasing, which pomt is i a
higher potential (voltage), point “a™ or “b"? Ixplain vour reasoning.
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